e A= LR LR R

FRAV AL 102842 19p B2 o9 ERAF- 2104217 4p

B B2 HRF R BT

D
¥
Jag | A — g A4 PR 4% 5L

a

I PR -8FLEE L] 23
g Ak 120-140 & A

TR A o 9
AEA 2R |2 RFIERBBR 62 NEAF LER
B -’;,;‘._%"4,\‘55;; 5@'”71;#_’;&:0

5 ~mrr o fFE|3 LHFAT=3HF ~
440-520 L9z x * o |4, 350,000 ~/+/*
3. 984 ~/ 1 /?
Rk A (F|Fmserorod 156318 fadmsiRai |
) kSl iak A o
G ER-EGge (R MTARTEETT RN
G 71800 ~/ A /%) aod A RENZZ 1

P ER103# 127 311, £ 5 % 48.52x(160*

p a4 5510 4 4% o) HeYe gy

Bom fF 3484 = (11517. 24 9.2 =(30.41 L3 =
<)

T4 R ), TiEmE &g

f?zgféi063<2wl~\%> RRAE S RIS AT
;véf&*’*“{f&’f ARRLEE

ERAE) 2. THREEHTE 39.54

(130.58 T = = 2)

3. = EHE 15 =

(512.4 L= 2 &)

F1H



ki%%} i - A A A P 0 4% 5L
S
p
4, \;63 ‘Pg}%‘—g&lé’
B A3t 243 #2(803. 3
I é}z)
REpRETZF ~p 7L B OPIE o RS
FEFE 2704/ N Wﬁi’tﬁob-
FLEEFL - 2. ﬁ*%u;%ﬂ“

TRFR R

V@$f%@

o A @EHmE s
fete &2 F M
,ﬁio

3. A7 HanFrAlg
TR ROpEM 2 T
wh 3K o

4, PPHEF 212k -

“F

dE R R F R

plrdpeFE ppuF
S 2R I I SN SN
SNV S T LI
13 » £3+17=x -

5
-\1;»\

SELE

W
\:
&

METEIETETYY
Frte & 4 =% ¢

(1) 102.08. 03 *a9¥8 ik
o g H#PAR L REE
P F iR

(2) 103.01. 18 "ot iR
o g@EVKRE -

(3) 103.03.29 # 5@ ¥4
LSRR ERER
AT (KR
30cc. ) °

(4) 103.12. 24 *s3veidm i

F2H




’*i_;g i - A A PR 38 5
)
B
i i EPRE
2. ALY RARF
o fife 2 =%
(1) 102.12.13-12. 31 At
o4 B e B LR
AR EZ B
R Rl i e
(2) 103.03.31-04.06 =
R E B RERFN
TR T RS
3. AENFRE -
& 24 AR 2
EaE AR MR
ot BlaT i
g# pld £ ¢ 3 g/g,
24 ¢ OB Er R
Bs o
4, NFE A
6 aEPizs 3
FI» & p 3 A FA
o %5]‘;‘;& }?5 5 AT
d R&EZ £¢ Has
FRECp, B B
map 30 A4ERP] | B R ERE TS ~EF
& 5 B A@EREEF s (B A A BEE SR
PR~ o BEd HOp (74
':‘io
B R SRR G R A BP R IR L
B Bz B2 XA A B | A EEE R 461 < -

EyEE il o= 4298
B1l=x-o

F3H




o 2
X 15 =K g{l * o

FHA4H

104 £ 1 H 5 H#i%E




